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Kombine sorular



1. Deduce the structure that corresponds to this spectral data.

Mass spectrum: M: m/z 148 (100 %); M + 1: m/z 149 (11.25 

%); M + 2: m/z 150

(0.54 %).

1H-NMR: 7.5 - 8.0 ppm (multiplet, integral = 2.5), 3.0 ppm

(triplet, integral = 1), 1.8

ppm (sextet, integral = 1), 1.0 ppm (triplet, integral = 1.5).

13C-NMR (DEPT): 200.4 ppm (singlet), 137.0 ppm (singlet), 

132.8 ppm (doublet),

128.5 ppm (doublet), 128.0 ppm (doublet), 40.4 ppm (triplet), 

17.7 ppm (triplet), 13.8

ppm (quartet).



2. Provide a molecular structure that is consistent with the spectral data.

Mass spectrum: M: m/z 132, 100%; M + 1: m/z 133, 6.89%; M + 2: m/z 134, 1.42%.

1H-NMR: 4.0 ppm (triplet, integral = 1.0); 3.9 ppm (singlet, integral = 1.5); 3.0 ppm (singlet, integral = 1.0); 1.3 

ppm (sextet, integral = 1.0); 0.9 ppm (triplet, integral = 1.5).

13C-NMR (DEPT): 171 ppm (singlet), 70 ppm (triplet), 56 ppm (triplet), 52 ppm (quartet), 30 ppm (triplet), 18 ppm

(quartet).



3. Deduce the structure that corresponds to the spectral data.

Mass spectrum: M = m/z 194 (100%); M + 1 = m/z 195 (6.7%); M + 2 = m/z 196 (98%).

1H-NMR: 11.5 ppm (broad singlet, integral = 1), 2.5 ppm (triplet, integral = 2), 1.5 ppm (singlet, integral = 3), 1.3 ppm 

(sextet, integral = 2), 1.0 ppm (triplet, integral = 3).

13C-NMR (DEPT): 181 ppm (C), 82 ppm (C), 42 ppm (CH3), 35 ppm (CH2), 31 ppm (CH2), 24 ppm (CH3). The signals at 

181 and 82 ppm are about the same height, as are the signals at 35 and 31 ppm and the signals at 42 and 24 ppm.



4. Deduce the structure that corresponds to the spectral data.

Mass spectrum: M: m/z 166 (100%); M + 1 m/z 167 (11.4%); M + 2 m/z 168 (<1%).

1H-NMR: 6.9 ppm (doublet, integral = 2), 6.8 ppm (doublet, integral = 2), 3.6 ppm (doublet, integral = 4), 3.2 ppm (broad 

singlet, integral = 2), 2.9 ppm (quintet, integral = 1), 2.4 ppm (singlet, integral = 3).

13C-NMR (DEPT): 145.9 ppm (C), 134.9 ppm (C), 123.5 ppm (CH), 128.9 ppm (CH), 49.8 ppm (CH2), 39.9 ppm (CH), 19.8 

ppm (CH3).



7. Deduce the structure that corresponds to the spectral data.

Mass spectrum: M: m/z 164 (100%); M + 1 m/z 165 (4.62%); M + 2 m/z 166 (98.1%).

1H-NMR: 4.3 ppm (triplet, integral = 1), 3.6 ppm (triplet, integral = 2), 1.5 ppm (quartet, integral = 2).

13C-NMR (DEPT): 178.1 ppm (C), 65.0 ppm (CH), 46.7 ppm (CH2), 33.3 ppm (CH2).



8. Deduce the structure that corresponds to the given spectral data.

Mass spectrum: m/z = 160 (100%; M); m/z = 161 (12.4%); m/z = 162 (0.21%).

1H-NMR: 7.2 – 6.8 ppm (multiplet, integral = 4), 2.9 ppm (doublet, integral = 2), 2.5

ppm (doublet, integral = 2), 1.8 ppm (octet, integral = 1), 1.0 ppm (doublet, integral =3).


